COLUMBIA™::.

1-1: Take out these parts as showed in the photo.

1-3: Using the bolts to connect the leg to the beam.

www.columbiasafety.com

Instructions for Treatment Chair Assembly

1-2: Prepare four long bolts well.

1-4: Using the bolts to connect the leg to the beam.




Instructions for Treatment Chair Assembly

COLUMBIA™::.

1-5: Using the bolts to connect the leg to the beam. 2-1: Prepare these parts as shown in the photo.

- ., - .

A

£

2-2: Connect the “L"” shape to the seat. 2-3: Connect the “L" shape to the seat.

www.columbiasafety.com 2




Instructions for Treatment Chair Assembly

COLUMBIA™::.

(‘E

3-1: Prepare these four bolts & nuts well. 3-2: Fix the seat to the legs with the bolts & nuts.

3-3: Fix the seat to the legs with the bolts & nuts. 3-4: Fix the seat to the legs with the bolts & nuts.

www.columbiasafety.com 3




3-5: Fix the seat to the legs with the bolts & nuts. 3-6: this is how the chair looks like after step #3.

' A W .

|

4-1: Put the bolts onto the “L" shape. 4-2: now it's time to set up the backrest.
4

www.columbiasafety.com




Instructions for Treatment Chair Assembly

COLUMBIA"::.

B | 7 \ :
. i
v =t b ' 3 1 !
. : L) L_ u{' wili 3 eu. q,-x,_..__ R
4-3: Connect the backrest to the “L"” shape with bolts & 4-4: Connect the backrest to the “L” shape with bolts &
nuts. nuts.

778

4-6: Connect the backrest to the “L" shape with bolts &
nuts. nuts.

www.columbiasafety.com 5



Instructions for Treatment Chair Assembly

COLUMBIA™:.

5-1: Now only left the hand rest and ring behind. 5-2: Time to do the last step.

'\:‘ ’ ! / ' LS v
- /7 ] Ja ~
;3 K
5-3: Fix the hand-rest with two bolts. 5-3: Fix the hand-rest with two bolts.

www.columbiasafety.com 6



COL UMBIA . Instructions for Treatment Chair Assembly

g ’ /f

5-4: Put on the ring to the place where you need it to be, now you've completed i, congratulations! Just remember to
tighten all the bolts and nuts, that’s all.

www.columbiasafety.com




L-12515 Treatment Chair
Assembly Instruction

E1
* Hexagonal bolt M12x40 4pcs
With nuts
B
Y
i c
S _ Hexagonal bolt M12x60 1pc
L 7/ ] —_
( D1 q ] Hexagonal bolt M10x55 1pc
. — .
H \ * Hexagonal bolt M12x40 2pcs
S — With nuts
F = |.| — Hexagonal bolt M12x60 1pc
D S
Assembly Order:

1. Connect A backrest to B seat, with E/E1 connector.

2. Connect C/C1 sides with D/D1 horizontal braces(leave loose).
3. Connect backrest & seat to the sides.

4. Tighten C/C1 and D/D1 bolts.

5. Connect F/F1 armrests to the C/C1 sides.




